Master Gardener IPM Quiz

1. What does IPM stand for?

A. International Pest Market


C. Insect and Pest Methods

[image: image1.jpg]




B. Integrated Pest Management

D. Intelligent People Makers
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2. What is the relationship between these two insects? 

The black and orange one is the larva

 of the adult ladybeetle.

3. Why is applying a broad spectrum (affects many insects), persistent (lasts a long time) pesticide all over your yard not considered IPM  compatible?

A pesticide should be specifically targeted just against your pest and NOT affect many other insects, or affect as few beneficials as possible.

A pesticide should not last a long time. Since the pest problem is now, a pesticide only needs to address the current problem not possible problems in the future. Also beneficials are more likely to be harmed by pesticides that linger for a long time.

A pesticide does not need to be sprayed all over the yard. Spot apply a pesticide where you have a problem to preserve beneficials in other parts of the yard.
4. Give an example of a cultural control.


Choosing a resistant variety


Putting the right plant in the right place


Not overfertilizing


Not over/underwatering
5. List 3 beneficial insects.


Lacewings




Earwigs


Lady beetles




Praying Mantis


Syrphid flies




Predatory Stinkbug


Assassin bugs
